Doubleflex

Olympia

Verlegeplan: Lagerholz und Doppelschwingtrager
Plan for installation: Rigid support and Double swing beam

+-250+ 500 + 500 + 500 + 500 + 500 + 500 + 500 + 500 +

/// Wand/Wan/ ! | / i/ +i |

(=)
—— == TR e SR e T et e T
~ ' ' | ' " L Lagerholz/ Rigid support; 4
4 | , | | “Holzbouschraube/ Screw: &,2x35mm S00 | | g |
T T T T T [ T T —
_.ﬂ_-—-/H@iré—-—-—i"H-—- e E— T — s & — —F—3—+|+-
- i f=——500 i LanpeLschwinglrdgerf Double swing beam i i o i
2 / ' : 4000 —— : . Ly 8 |
l
B | e e e S e S ey NN B N
| I I |
=4 / | | | | | l Doppelschwingtrdger/ Double swing beam | | S |
i J. Holzbouschraoube/ Screw: 4,2x35mm .I. J. [ | | T |
— - *@———*——"ﬁ——-———— ----------------- —t —-
T T | T T T T [
' ' ' ' ' . §
L | | I
L . | . 1
— -t i’_@' =t - ]———}— —{|— '''''''''''''' T
& f=——500 —=—=250~ i ‘ . ! '
3 I | | I |
L / 2504500 —] : : : : : :
Ll = = = = == == ==
RS S — o= — - — — - — - — - — - — - — - — - —] .
il - | — — — — — — —
]
Verlegebeginn an der Wand/ Start of the installation at the wall  M: 1:10

Doppelschwingtrager Nr./ Double swing beam No : 1

|-— 250 —~ 500 =

Doppelschwingtréger Nr./ Double swing beam No: 2, 3, 4, 5,6, ...

7
40 P—EEUAI |

: A

MW&M R T T TTTTT T |

T | T, aummigranulatpod/ Rubber pod

40

. -Gummigranulatpad/ Rubber pat J Sperrholzpldttchen/ Plywood & 97«97« &mm

- Holzklotz/ Wooden block, Dicke: 10mm

Holzklotz/Ausgleich. Dicke: 30mm Sperrholzpldttchen/ Plywood 3 97x50x4mm

Wooden block/Equalizing, Thickness: 30mm

BOEN

SPORT

Lagerholz bestehend aus / Rigid support consisting of :

2 Blindbretter/ 2 counter floor: 4500x97x 16mm
verschroubt mit Holzbauschroube/ screwed together 4,2 x35mm
Versatzmaf/ overlopping port: 200mm

Doppelschwingtréagerverbindung
Fixing for Double swing beam
_'!

-

o

?

=]

=]

Holzbouschrauben/ Screw:&,2x35mm

boensport.com



Doubleflex Verlegeplan: Blindboden
@) lympla Plan for Installation: Counter floor

BOEN

SPORT
Wand/ wall .
e T Tl . . .
“H-H HH 0 HH f&—‘ti Blindboden : Einteilungslehre
Tnnnnnnir— Counter floor: Distribution of the gauge
inigigininininE YA
EeE IR I I A e Wand/Wall
g Holzbauschraube/ Screw:4,2x35mm .;—._-._
2 B I
______ INRRRRR R K KK

137 1373

97

500 +
|
|
|

1 I0
1 1
1 1
.I I
1
- .I I
- .I I
: :
- §
OOIO—P
1 1
! |
5
|
—

+ 500
|
\I\
.
I I
1 |
1 I
I
T |
1 |
| I
T T
= ‘I |
§
| I
1|
= 1 |

\\R\R\R\R\R\I\\R

H - Leisten beidseifig aufgeschroubt/ -
Wooden ledge screwed on both sides /

§ -/ Blindboden/ Counter floor= 97mm | L
== AT BN

W

I\, 2x Nogel/ Nails: 2,2x32mm

- . « M- - - — < . -
Tt Al HHHHHEe— H
Bei 1.Brettreihe, Bl indboden auf jedem

4

T

|

°
1000

L

f=]
2 Doppelschwingtrdger 1x verschrauben/
[ N | e £ O O O o O o PO e . H../— The first row of the counter floor ore fixed

/ T nnnn’ ' with one screw on each double swing beam.
8
T - .

L 137t g — - BOEN Sportparkett Lénge/ Length of BOEN Sports parguet: 2200mm

- —_— —H o 8 | 2_

Bl indbodenversatz/ Measure of displacing: S00mm

500

I
|
olo
¥

20 boensport.com



Doubleflex
Olympia

Verlegeplan: Sportparkett
Plan for installation :Sports parquet M: 1:20

// Wand/ Wall e

* un
: - - . - . T - - - - - T [
—Holzbouschraube/ Screw: 4,2 x35mm I 2200 |
| 2200 Jl
| 2200 {
l— 2200 —]l
Foosse -

TI(2(|3(|4]|5]||6][7||8[|9| 10|12 [13] [14]| 15[ 16| 17| [18] 19| 20 [21] 22 23| 24| 25| [26] [27] 28| [29 30| B1| |32 [33

5
31 PE-Folie/ PE- foil 0,05 mm

Verlegeplan: Sportparkett

Plan for installation: Sports parquet
M: 1:10

2200

a LT T T T
——f——1215 —- =

hY Négel/Nails: 2.2 x 38mm

215

boensport.com



